
EXAM P QUESTIONS OF THE WEEK
S. Broverman, 2007

Week of September 10/07

The graph below is the pdf of a continuous random variable  on the interval  .\ Ò+ß 2Ó

The numerical values represent areas for the subintervals.
Find the conditional probability      .T Ò,  \  / l Ð-  \  1Ñ ∩ Ð\  .ÑÓ

The solution can be found below.



Week of September 10/07 - Solution

The region    is   , so the probability isÐ-  \  1Ñ ∩ Ð\  .Ñ -  \  .

       .T Ò,  \  / l -  \  .Ó œ TÒÐ,\/Ñ ∩ Ð-\.ÑÓ
T Ò-\.Ó

  

The region        is     , soÐ,  \  /Ñ ∩ Ð-  \  .Ñ -  \  .

    .T Ò,  \  / l -  \  .Ó œ œ "TÒ-\.Ó
T Ò-\.Ó


